Unit 7 problems II
1.) Object “A” has a negative charge of 1.25 x 10-6 C.  Object B, carrying a negative charge of 7.5 x 10-6 C is .05 m to the left, calculate the force created between the two.  Is it attraction or repulsion?

2.) If you had three charged particles (A,B, and C) and particle “A” has a charge of + 6.9 x 10-4 C and is .008 m above particle “B” which has a charge of – 7.8 x 10-4 and particle “C” which has a charge of –7.0 x 10-4 is .009 m below “B”, what is the net force exerted on particle “B”?

3.) A circuit that is in series has three resistors with the following resistances: 10 ohms, 15 ohms and 35 ohms, what is the total resistance?

4.) If the circuit in number three was built in parallel, what would the resistance be?

5.) Calculate the net force exerted on particle “B” in the pictures below:

